An Overview of Area
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1N. Find the area of the trapezoid. 1H. Find the Area of the trapezoid.
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IN. Find the area of the hexagon. 2H. Find the Area of the hexagon.




3N. Find the area of the triangle. 11 3H. Find the area of the parallelogram.
4]

wvd

4N. Find the base of a parallelogram as a fraction in 4H. Find the base of a rectangle

simplest form if the area of the parallelogram is 24 ft2 and if the area is 10 cm?2. 4
5

the height is 2% ft.




SN. The area of the polygon.
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SH. Find the area of the polygon.
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ON. The area of the shaded region.
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6H. Find the area of the shaded region.
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Triangle ADE is inside rectangle ABCD. Point E is halfway between points Band C
on the rectangle. Side AB is 8 cm and side AD is 7 cm.

Part A: What is the area of triangle ADE? Show your work.
Part B: What is the ratio of the area of triangle ABE to the area of triangle ADE?

Part C: What is the ratio of the area of triangle CDE to the area of rectangle
ABCD?
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Noah wants to make the kite shown below out of cloth.

He wants to determine how much cloth he needs. What is the area, rounded to the
nearest square centimeter, of Noah's kite?



A net of a square pyramid is shown below.
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What is the surface area, in square centimeters, of the pyramid?
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1N. Find the area of the trapezoid. ! qc’,l 1H. Find the Area of the trapezoid.
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3N. Find the area of the triangle. |1 ydL\
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4N. Find the base of a parallelogram as a fraction in
simplest form if the area of the reetemgie is 24 {t? and the

height is 2% fitex Peeclislanccr)
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4H. Find the base of a rectangle
if the area is 10 cm?.
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SN. The area of the polygon.
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S5H. Find the area of the polygon.

6N. The area of the shaded region.
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1 - Triangle ADE is inside rectangle ABCD. Point £ is halfway between points B and €
iy 1 on the rectangle. Side A8 is 8 cm and side AD is 7 cm.

Part A: What is the area of triangle ADE? Show your work. '
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Part B: What is the ratio of the area of triangle ABhe area of triangle ADE?
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Part C: What is the ratio of the area of triangle CDE to the area of rectangle x . >
‘f_B.EQ%- Tem PR ) b:?cm -A_7.g.
1 Lk SR
B 35CM _E 35(” C h‘: 8CM- . y A
; A‘ : 28 em = <

b
RV ARNAES
| '8 Pert &

A :

!|§ Dy

]




Noa..)wants to make the kite shown beiuav out of cloth. )
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He wants to determine how much cloth he needs. What is the area, rounded to the
nearest square centimeter, of Noah's kite? o
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A net ot a square pyramid is shown below.
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What is the surface area, in square centimeters, of the pyramid?
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